
Question Scheme Marks AOs 

4(a) A survey of all of the members of the club B1 1.1b 
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(9 marks) 

Notes: 

(a) 

B1: Must make reference to club members and indicate whole population used. 

(b) 

M1:     Use of formula for independent events 

A1:      0.15 oe cso* 



(c)(i) 

M1: correct expression 

A1: 
1

2
 

(c)(ii) 

1st B1:  correct Venn diagram structure and zeros 

2nd B1:  cao 

3rd B1ft:  ft their 0.5 must be answer in range 0 < p < 0.3 

4th B1ft:  ft their 0.1 must be answer in range 0 < p < 0.3   

 

 
 
 
 

  


